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Method

Approach 1 Approach 2

e Training (70%) and testing * Training (70%) and testing
(30%) on the 1.0 M 1-Tt (30%) on 8.9M 1- generic
sample. sample.

* Applying on the 8.9 M * Applying on the 4.4 M
T-generic signal and ten T-generic signal and ten
streams (07 training, 03 streams (07 training, 03
testing) of MC. testing) of MC.

e Estimated the Nsig and Nyg. * Estimated the Nsig and Nyg.



* Training (70%) and testing (30%)
on the 1.0 M 1- 1t sample.

* Applying on the
T-generic signal
streams (07 training, 03 testing)
of MC.
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and ten

» Estimated the Nsig and Npg.
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Approach 1

« Training (70%) and testing (30%) BDT response
on the 1.0 M 1- 1t sample.

TMVA overtraining check for classifier: BDT
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 Applying on the 89 M
T-generic signal and ten
streams (07 training, 03 testing)
of MC.

(1/N) dN / dx

» Estimated the Nsig and Npg.
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* Training (70%) and testing (30%)
on the 1.0 M 1 1t sample.

89 M
and ten

the
signal

* Applying on
T- generic
streams (07 training, 03 testing)

of MC.

* Estimated the Nsjg and Nyg.

BDT > 0.15

Approach 1

| Cut efficiencies and optimal cut value |
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Training (70%) and testing (30%)
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—B' > K"t ut
— B'B and BB’

Approach 1

0.1

0.08

0.06

0.04

0.02

BDT score

—B" > K" 1t put
— B'B and BB’




* Training (70%) and testing (30%)

on the 1.0 M 1 1t sample.

 Applying on the 89 M
T-generic signal and
streams (07 training, 03 testing)
of MC.

* Estimated the Nsjg and Npg.
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e Training (70%) and Approa’Ch 2
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e Training (70%) and
testing (30%) on 8.9M
T- generic sample.

* Applying on the 4.4 M
T-generic signal and
ten streams (07 training,
03 testing) of MC.

* Estimated the Ny and
Nbg.

Approach 2
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e Training (70%) and
testing (30%) on 8.9M
T- generic sample.

* Applying on the 4.4 M
T-generic signal and
ten streams (07 training,
03 testing) of MC.

* Estimated the Ny and
Nbg.

BDT optimal cut
BDT > 0.07

Approach 2
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Training (70%) and ApproaCh 2

testing (30%) on 8.9M BDT score
T- generic sample.

Applying on the 4.4 M
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e Training
testing (30%) on 8.9M

(70%)

and

T- generic sample.

* Applying on the 4.4 M

T-generic signal
ten streams (07 training,
03 testing) of MC.

* Estimated the Ny and
Nbg.
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Back up



ROC (test train samples)

Approach 1

Background rejection versus Signal efficiency TMVA
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ROC (test train samples)

Approach 1

Linear correlation coefficlents in %
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ROC (test train samples)

Approach 2
Correlation Matrix (signal)

Linear correlation coefficlents in %

100

stonsSelected

nLepton

m_ROE

Itag -20
=40
best_sum

60

deltaE_Btag -80
= . ” " -100

2 1. hp
QE:-. afag%]:‘s“m #&9 ROE Bpfon boronss

wﬂcﬂed

incl_test_Train.root

Correlation Matrix (background)

Linear correlation coefficlents in %

100

stonsSelected

nLepton

m_ROE

tag -20
40
best_sum
-0
deltaE_Btag -80
5 ” . =100
Lyt
%”aﬁarag%“s”’n ~ag ~Rog "ot p%""ﬂss
%o.oea

incl_test_Train.root



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16

